GSE Algebra 2




Unit 4: Rational and Radical Relationships
Name____________________________________



Date_____________________

	Unit: 4B
	Homework: 5

	Standard:

Represent and solve equations and inequalities graphically 
· MCC9‐12.A.REI.11 Explain why the x-coordinates of the points where the graphs of the equations y = f(x) and y = g(x) intersect are the solutions of the equation f(x) = g(x); find the solutions approximately, e.g., using technology to graph the functions, make tables of values, or find successive approximations. Include cases where f(x) and/or g(x) are rational.★

	Essential Question: 
· How can a system of two rational equations have no common solution?

	Key Words: 

Asymptote, degree, domain, extreme value, factor, factoring, horizontal asymptote, quadratic formula, range, rational function, real zero, root, slant asymptote, solution to a system, vertical asymptote, zero

	Recommended Resources:

· http://www.walch.com/rr/00207

· http://www.walch.com/rr/00208

· http://www.walch.com/rr/00209

· http://www.walch.com/rr/00210

	Find the solution(s) to the rational functions.
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